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1.1- Thermal conductivity of water is

0.59Wm~"k™" (D) - O.39Wm"K'1 ©)

2 - Abody of mass 50Kg is raised to a height of 3m,
its potential energy will be

1500 J (D) 1400 J (C)
3 - Thevalue of 'g' on moon is
1.92ms™2 (D) 1.82ms™2 (C)
4 - Water freezes at
-273K (D) 32F° (C)
5- The mass of 200cm?® of stone is 5 0g. Its
density will be
2.290m"3 (D) 2.Sgcm" (C)

6 - In solids, heat is transferred by,
absorption B (D)

convection

el

7 - Aball is thrown vertically upyvard. It ity at the
the highest point will be
9.8ms™ ( 9.9ms 1 (C)

8 - The turning effect of a fgrce is called
moment arm  (Twesf (D) netforce vde (C)

9 - The work done will e zero, when the angle between
the force and the djstance is
180° (D) 90°(C)

10 - The number of pase units in Sl are

7 (D) 6 (C)

11 - The co-efficient of friction between tyre and wet road is

0.4 (D) 0.3 (C)
12 - Inertia dépends upon
velocity u" Us (D) mass L (C)

&z
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conduction % (B)

e OGS -1

0.49Wm™'K™" (B) 0.29Wm~'K™" (A)

£ S am /AL L iS50 -2
S A S ute 1
1300 J (B) 1200 J (A)

edned g sp -3

1.72ms™2 (B) 1.62ms™2 (A)
& Voo Da g fAVR L -4
0K (B) 0F° (A)

g cﬂr<..<g?’ut KA L s 2oocm3 £ -5
£
& 2.esgcm'3 (A)

e WP CerJEI LI F -6
radiation /IS4 (A)

4(5,.%;,;1{,?_&1’@;4:!7://,!“@ -7
Srtedun
zero & (A)

g LGS L s -8

momentum ("rr (A)

10ms™ (B)

torque St (B)

51l s £ o ol JJ'J:’_) f(ﬁ}’J} -9

60° (B) 45° (A)
e WUk S -10
5 (B) 4 (A)

e U Pialetdupn L mst -1
0.2 (B) 0.1 (A)

e AAK I 12

netforce (ie (B) force U2? (A)
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PHYSICS Paper:1 (U1 e,mjiﬂ? (1°%A 124) I:z¢

Time: 1:45 Hours Group:I SUBJECTIVE e Jen 'f’f be & 1:45

Marks: 48 (v Y 48:/%

Note: Section I is compulsory. Attempt any TWO (2) (2) ne Jf = gﬁr».'o _q..dJﬂ Jilo 1o
question§ from Section IL. ez Ly

Section -1 Jil =
9 - Write short answers to any FIVE (5) questions.  (6x2=10) ..i/ i u“.?/# L=y (5) & le Jf 2

i- Whatis meant by Vernier Constant? ey e SN En -i
ii - Define Plasma Physics. -5.}1}" J(/-/,uu -1
iii- Why do we need to measure extremely small intervals of Jz Yot J = e uf’, J’b R4 Lo 2t il

time?

iv- Write down two advantages of Friction. _é gf»’ﬁ’» L J"’} -1v
v - Define Centrifugal Force: gy S i i -v
vi- When a gun is fired, it recoils. Why? tud e WS E e e dig Ooe LTz v
vii- What is Global Positioning System? fe i (Global Positioning System)("‘/ .,’GR‘J.J;;J){ - vii

viii- State law of Gravitation g Uk U6 E Uy - viii
3 - Write short answers to any FIVE (5) questions.  (6x2=10) -@itliﬁéulﬂr (5) é L = Jf 3

i- Differentiate between vectors and scalars. o -Zf b S J)’C sl ok -1
ii- Represent 80N force acting in North-East direction. e uu U S Ju’ J 80N I Jf e J U/_ -1
iii- Define acceleration and write down its S.1 unit, _Z‘f L SIEUI c’l: i/ J u,g),g -1l
iv- Define density and write its unit. @ 4 <yl 2"_: - /"’ J J’:’S -1y
v- The mass of 5 litre of water is 5 Kg. Fi <density. ér}” B < rlf)fs Jb Kdl. A CL -v

(/J)fm‘s—/ﬂ
-Z,“—(O.Lﬁ L)/J: Ozl d/ -vi

(litre=10"m>)

vi- Differentiate between stre

vii- Why conduction of heat not take place in gases? by u.‘.f"' u:,)./ Jf ch.\( pa- f:r - vii
viii- Write down two uses of good conductors. @ e L ;fl'f =l - viil
4 - Write short answers to any FIVE (5) questions.  (6x2=10) -4{/ i utl!/"'? L=ty (5) é e Jf
i- Define stable and neutral equilibrium. = & w/’uf('/u’:fl U sl gl -i
ii- How does Head to Tail Rule help to find the resultant of vectors? fe thou P u/ Un L (:L" Nt /r: JsJ J k-l
iii- Define centre of mass and centre of gravity. -éf: - J(,i,y_'/.; I/-“ul Jt ._:l/-’ -1i
iv- Differentiate between work and energy. -z AUk Gl S -iv
v- Define efficiency of a system and write formula of 6§ u’; (81 44 sl 5 J/‘J u"} i J f’ -V
percentage efficiency. Zy /
vi- Define potential energy and write its equation. -&U e fals J J 2! é 4/7 J S VE/'Q -vi
vii- Convert 100°F temperature on Fahrenheit Scale into Edr JF u“’? ' [y:; 100°F £ JF Al - vil
Celsiues Scale.
viii- Define linear thermal expansion and volume -’jg*i: _4/‘7J§Uf.{ Jﬂ]p!l: 20 3 J/ll db -l
thermal expansion.
(ﬁloﬂ) 4
PR
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Section - II (u.-’b ﬁ 9 L

4 -& u‘{uﬁ)lﬁ‘ 0 i Se s L:rc;. A ST (D - p

U

(a) What is meant by law of Inertia? Also give two
examples.
(b) A polar satellte is launched at 850 Km above earth.  (5) b 46k § 850Km e oti er ey L ()

Find its orbital speed? ol dy ST Sulee o/
y Derive First Equation of Motion by using speed-time  (4) ol J’-ﬁ a7 e "‘,J oS ﬂ‘ w () ¢
Z P
o § L LI LUl (5 ()
o 8200Kgm ™ §H et £

(a
graph.
(b) Calculate the volume of an iron sphere of mass 5kg. (6)

The density of iron is 8200 Kgm'3.

(a) Define Resolution of forces. How can a force F be (4) ' S Fw? o’( P P S et ST s () -
resolved into its perpendicular components? e L l{g)iv LS u”‘::;( $nf &

(b) A motor boat moves at a’steady speed of 4ms™. (6) &S eS7 e e S ams™ en e L (L)

Water resistance acting on it is 4000N. Calculate - 4000N J‘"JJ Jdg Jls L/JQ Ji-e

power of its engine. wzécgug & Jl LU
15-15tA 124-122000
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Time: 15 Minutes  Group-1I OBJECTIVE o> ol w155
Marks: 12 Code: 5478 e Sy 12 .5 N

Lu'?w"/)&-Ju}/')zé)&l’éd‘}’f/lé{d’i u'cfc..)Du‘C B« AuUi’jJ(v‘Cd’)’/ %
Kt sk w2 uL Un uu‘u(d.,// /.._a(tz,/4 fu:ﬂ; Wb e J Z.J/

1.1- The range of clinical thermometer is
35°C — 42°C (D)
2 - The energy stored in coal is
kinetic energy ./ ¥ (B)
8./1 7% (D)

3. A ball is thrown vertically upward. Its velocity at

30°C — 42°C (C)

nuclear energy

the highest point will be

10ms ™" (D) 10ms™ (C)

4. Thevalue of 'B' for a solid for which 'a.’
has a value of 2x107°K™" will be

e Un s § v/ gl
20°C — 42°C (A)

e GAonis b b
heat energy = G/ &er (A)
chemical energy .7/ KL (©)
ik e Y e .J)’J/:l i)ffif.f
J U

")

25°C — 42°C

-10ms”~

i 2, 107°k™" JJJG’IIL,MJ:I’La u’;“\.f

2L S e &

8x10°k™" (D) 8x107"°k™" (C) 6x10 2x107°k" (A)
5. Using gas heaters, rooms are heated by _____ wied el o
convection and radiation *I$4 ! Jr/ (B) % conduction f 20 (A)
A convection radiation IS4 (C)
6- ____ofthe following is the smallest quantity. % Y d/ el St
5000ng (D) ( " 2mg (B) 0.01g (A)
7 . Two equal but unlike paralle! forces lere t FESTA P P22 S L gg Ysbr sy
line of action produce Jt J/ lag ot i
¢ (B) a couple &/ (A)

neu uilibrium oAk equilibrium  £AS£1 (C)
8- A boy jumps out of a moving bus. There is a danger \ "3 b6 Fug = Ut U dn oJ’ (/\.f
for him to fall » e BRSPS
away from the bus &= % (B)— towards the moving bus I/ R AT
in the direction of motion S erd e (C)

9. The efficiency of solar cell is
12% (D)
Rate of change of momentum is called
force u’/} (D) mass Jt (C)
The density of substance can be found with the help of
Hooke's Law < @it L 4 (B)
priciple of floatation < Js! L iz (D)

9% (C)
10 -

11-

The altitude of geostationary orbits in which communication
satellites are launched above the surface of the Earth is

6400Km (D) 1000 Km (C)

12 -

16-(1V)-1°*A 124-116000

opposite to the direction of motion % e ¥ Se/7 (D)

& dn ot S Uk

3% (B) 6% (A)

g LIS de st

distance J~l (B) torque Lt (A)
cFelprissey

Pascal's Law <« o6 L J“g (A

Archimedes Principle < J# £ st (C)
U'L/J)/f-/l}e"u,g/rgﬂgf».‘/ld/“’/r’
f_dncu"/gdk"‘!u‘

850Km (B) 42,300Km (A)

LA f./u.wduv
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PHYSICS Paper:1 @ IaaJPse (1A 124)  Iigyg

Time: 1:456 Hours  Group-II SUBJECTIVE (i 7}/‘ s & 1:45 e

Marks: 48 ﬁ y}p-}‘/ 48: 0%

Note: Section I is compulsory. Attempt any TWO (2) (2) wee Jf & u:ru..«'o -y Jile 129
questions from Section IL YO Lty

Section -1 J3l o
2 - Write short answers to any FIVE (5) questions.  (6x2=10) -é,/; ..-.glz/” Loty (5) & Q < Jf -2

i- Whatis meant by the least count of an instrument? fe sy e eWad L el -i
ii- Define Atomic Physics and Plasma Physics. A N O IR NY S N TR
ili- Write down two rules to identify significant figures. & ot 5y £ it S uran A -iii
iv- Describe two situations where force of friction is needed. = J)’l enfd cf‘?uﬁ' & Yl AT
v- If weight of a body is 147 N, then find its mass. Wn VUL U 147N Wi KK Loy
vi- Write down two differences between mass and weight. "&V G Jf Syns gl -vi

vii - With what force does an apple weighing 1N attracts the Earth? S l“;v.‘.‘” Y u;( St - INYs &2 okl -vii
Ul 35 Ky S - viii

3 - Write short answers to any FIVE (5) questions. (6x2=10) .2 y /‘? LUy (5) é& = Jf -3
i- Why we can not add or subtract vectors like scaler quantities? O 4 gu } J uulﬁf}:ﬁ o Ul /’5 (7 -1

viii -  Why is the law of gravitation important to us?

RN % ik S

ii- Write down the use of LIDAR gun. @% & Je1¢ S UDAR -

iii- Define vibratory motion and give one example. %5 B e a2 P e S A -

iv- Is 1Nm==1Pa? If yes define it. @ 2w T0 it INm2=1Pay -iv

v- How liquid is pushed up, when we use Stréw 6 drink? e ST pdiige anlypfdifia v

vi- On which principle, ships and are designed? Ut Jk Sy EL U Ju??" MdF -vi
vii- Where are insulators u in\daily life? St Ln Je uL{ﬁ’Hl U Jﬁ) 203 - Vil
viii- Write down the names of éxpert thermal climber birds. s (b L Uiy AESE A -vidi

4 - Write short answers to any FIVE (5) questions.  (6x2=10) -é,//’.:,uz/'?&auu« (5) é& < J/- 4
g 0 N/

i- Find the Torque.

200N 200N
PR 20cm ----- b === 20em ----~- b
ii- Define équ’ilibrium. Give an example of a moving body - Jﬁ':‘,f J(Lyz LS .4//‘7‘,(#5/6):1 -ii
which is in equilibrium. - A Elskiz 2 i
iii- What is meant by elasticity? e e 6T i
iv- Define energy. Write down its Sl unit. -&F&g SI¥ Ut -2;5 ...,&_J/:"Jo’.jl -iv
v- A body of mass 10Kg is raised to a height of 5m from earth. F (Juk J 5m = u.“)fﬁ.ﬁé JL (1)3{10 -v
Find its gravitational potential energy. - .r)"" g J’“ﬁ? S S f’ e i
vi- What is the Sl unit of power? Define it. q B WIS U e ey SI K i

(CADD) )




RN i i et e T e g et i

, - -
o : -2- / U/ '/ ) — 2
vii- Differentiate between temperature and heat. ' A S Yk I il ,é-f,,” - vii
viii - Convert 50°C temperature into Kelvin scale and Fahrenheit ~ ~ gf-/;‘é JF el sl JEY, %/ 50°C - viil
scale of temperature. : Rz

Section - I1 (92 o

B = (a) State the law of Conservatign of Momentum and (4) = J& é Uk 96 ¥ g;'?'uf/é (‘yf () =5

prove it with an example. -é o
(b) The value of g is 4ms™ at a distance of 10000Km (B} =4 ( g4 46 £ 10000Km = S Lt (L)
from the centre of the Earth. Find the mass of Earth. - o LKt g 4msT
6 - (a) With the help of speed-time graph, (4) S e S ey () -6
prove that 2aS = sz - Vi2 2aS = sz - Vi2
(b) A student presses his palm by his thumb with a (5) d,l/@ U2 S 75N < &h & f“.,)u, ofl ()
force of 75N. What would be the pressure under his L15em?g. £ EAL et S il
thumb having contact area 1.5cm?? o 2y s & 3%
7 - (a) Differentiate between the following (4) 2 IS L () =T
a) Torque and Couple @ J{ul e (L
b) Centre of mass and Centre of Gravity é:gi:l ST (¢
(b) Normal temperature of human body is 98.6°F, (6) u”:/‘“/c,l r‘c@ 6F AL b ¥ 7 Ul ()
convert it into Celcius scale and Kelvin scale. o {&%O E e JE sl S
16-1%*A 124-116000 %
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PHYSICS Paper:I  (FUtfel wuf JFGEE) 1964 123 - (1)
Time: 15 Minutes Group-I OBJECTIVE - 5
Marks: 12 Code: 5471

1.1-

2.

10 -

11-

12 -

m“'k

Tige

v

e by e 150
12 : %

L orene fumd el Jyrr 360z . £EsDMCBAlz Ll L Uy rtd

Ky ? sk ! 0l a»"Jszf/.bl(LL/éfu;/’b ol K E e L £ oot 3 G

SI unit of electric current is u 7"" 23 < &y Sl K.*/'/J/‘gl
meter ~ (D) mole J» (C) “ampere &% (B) second £ (A)

Least count of screw gauge is & LI adE cf 4;
KO 0.0001em (D) <E¥ 0.001 cm (C) X% 0.1cm (B) K< 001em (A)
The motion of a body around its own axis is called : g Jlkfff J()';IL /gl o
rotatory motion S A (B) circular motion Jr){/ (A)

random motion J‘fri‘;/ (D) vibratory motion ufrdf‘./.’l; C)

ST unit of force is o 2y SI¥ s
ampere &% (D)~ kilogram rl/:f (C) Newton (i (B) Pascal J{’g (A)
Conditions of equilibrium are Ut 9128 EASE
3 (D) 2 (C) 6 (B) 4 (A)

A satellite revolving around very close to the earth has J .A s d_J, J;f - ; JL;#I L
speed nearly @ e Onljhr
8kms™ (D) 8kms ' (C) o% {&Q%%h“l (B) 8kmh' (A)

SI unit of power is

ampere &4 (D) Pascal f| (C@%S watt s (B)

Molecules are closely packed

in plasma eli (D) in liqui (C) in solid ufu;;‘ (B)

& Y SLE
kilogram (l/;f (A)
JtLln ..;} él,;‘«l ﬂggl.
ingas tu? (A

?:ﬁ;‘\

Density = ?
volume (#s
/ —— o
volume Xvass  Ulxpxdls (B) s O (A)
force g2 mass J
area 94 (©) volume s ©
The material which has large specific heat & Jla K or?, =7 0k J_'/‘:‘ 2
mercury /7 (D) water dg (©) ice iz (B) copper 4§ (A)
SI unit of thermal conductivity is o ey SIS
wm™k? (D) Wmk (C) wm'k™" (B) Wmk™' (A)
Einstein's mass energy equation is e bl g Ul ST
E = m%c? (D) E = mc? C) E=m2c (B) E=mc (A)

17-(1)-15*A 123-104000
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PHYSICS paper:T  (FUIFel 2uf UFULE) 194 128 I:z4
Time: 1:46 Hours Group:1 SUBJECTIVE -~ desi .f:f 14

Marks: 48
Note: - Section I is compulsory. Attempt any TWO (2)

questions from Section IIL

9 - Write short answers to any FIVE (5) questions.
i- Write down the names of any four base quantities.
ii - Define prefixes. How are these useful?
iii- Estimate the age of 16 years in seconds.
iv . Differentiate between distance and displacement.
v - Define uniform velocity.
vi- Define momentum. Write down its SI unit.
vii- Define mass and weight. )

viii- Write down advantages of friction.

3 - Write short answers to any FIVE (5) questions.
i- Differentiate between torcue and couple.
ii- How vectors are added by head to tail rule?

iii- What is meant by the force of gravitation?

v- Whatis a field force?
vi- Define unit of work.
vii - Define watt (unit of power).

viii - How is percentage efficiency.ca culated?

4 - Write short answers to any FIVE (5) questions.
i- Describe Archimedes principle.
ii- Define pressure. Write its ST unit.
iii- Define elasticity.

iv- Differentiate between temperature and heat.

v- Convert 100° F into the temprature on celsius scale.

vi- Write down two uses of good conductors.
vii- Describe land breeze and sea breeze.

viii- What is meant by convection.

&13.)

LU T-1-23

Section - I

(6x2=10) -Zsf =Mz Lty G) &L= df-2

&

.

5 1:45 :2h

48:JSI.
(2) e O o Lo 4Gl 2d

Jit o

L fet L usli il s

s LS 2P
_e B kK U 16
Yk I w3 sl b
e Ly s

& ey siénaE S8y
-é-—é’;Jubu' Jl
LS

(6x2=10) -a{zi@uﬁéumr OY T AL

o@o

iv- Differentiate between natural satellite and artificial ﬁw -é (‘: Iy 3 b A By s &F

L OnSput S S

e bl Q’Cf'é—(fifgc—dufiﬁ
Sy e P SST
iy
te dn YUud
il L

2 P (g ) 2
s Je S 6¥ 0

8 Yl e K un

L g e sie e P E 2y

Ay Il

ZE Uk P 7 s

L et JE TR 100 F (S e
2 g Jein £

_ZE Yk U f-Ju' d.cff

ey e P

ez Lty

-i
-1
-1
-1iv
-v
-vi
- vii

- viii

-1
-ii

-iv

(6x2=10) Efepz Lty (a)étc_él

-1
-
-iid

-iv

i WAL s 4 AR 1 B VT
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Section - I1 (9 o

Note: Attempt any TWO (2) questions. AZ\M. ~ ?VW L r..\m..&h.n\:.\ (2) we m.-\ Oy
5 - (a) With the help of speed-time graph prove that (4) J NM&\&PIQL.\N iy () L p
288 = V¢ - Vi & 2aS=Vf - Vi
(b) A body has weight of 20N. How much *oanﬂ(mwo (5) C2ms™ fUtoe 20N i 7l ()
required to move it vertically upward with m:@ Q.“\ 2Ll 5 sy o \\m_
acceleration of 2ms ™ ? o@ . A..CN PRSPy RIS
6 - (a) Define centre of gravity. How the centre of gravity %@v ¥ oube s /¢ G ST () 6
of an irregular shape is found? @v fe bl Wﬂﬂ%\ﬂ.\&u\hﬂ\m\
(b) Calculate the power of a pump, which can lift 200kg (5) “&& sk § Bm Ut 10s \mw 200kg 4 4 (&)
of water through a height of 6m in 10 seconds. E e v k%
7 - (a) Define evaporation and explain the factors which (4) Ll 4V \_: m.n..\ r&\.\. cm dem&_ () I 7
affect the evaporation. 2wl U
(b) The weight of a metal spoon in air is 0.48N. Its (5) €18 Qm ;%A.r 0.48N s W% Mes i ()
weight in water is 0.42N. Find its density. 4m .er & g J-< 0.42N s

17-15A 123-104000
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PHYSICS Paper:1 (ﬁ’ UK I il dﬁdu'??) 1°*A 123 - (I) I:34 L
Time: 16 Minutes Group-II OBJECTIVE - oy .r:/ i &2 16 b
_ Marks: 12 Code: 5472 12:0% -

L b'«lﬁ.:/uc.Ju:fbéfé»&.b:’:d’r;gd(dlﬁ -Uzéé—)DJ}’C‘B‘A&“X}GJ!{Z—JI)’ﬁ 0%
_(nxr;’b{i Y - a//JL//;:/Jab/LL/qu;;b wli e ug-’Z::)/!(c. u.’_;_l.'/gl. S o 3 Gl

1.1~ Thebase unitis GUT0~23 ey 11

watt b (D) Newton ¢ (C) kilogram (L% (B) Pascal Y (A)

2 - The change in position is called <« wa J: & u%';‘,:f -2
velocity (Vs (B) speed Az (A)
distance J~i (D) displacement o g3 (C)

3. Newton's first law of motion is valid only in the Iy & Lo G2y A 3
absence of a0 tn Ol §
momentum ("yr (D) friction u”} (C) force Uu? (B) net force JJ}.;,,/' (A)

4. Aforce of 10N is making an angle of 30° 2 A K 30° AL y‘gl-x o 10N 4
with x-axis. Its horizontal component will be @ € M){ le ¥y
87N (D) 10N (C) ®) AN (A)

5. The equation to determine force of gravitation o {& OJ i/ (= ﬁdg_‘f STuenLpl2ls -5
between two objects is % & ol

m, m mm m, m m,m
F=g—3" D Fﬁ—@ F=G=2 (@ Feg—— @

6 - The energy possessed by a body d ifs\motion, is called J PRy rpEn G&_ e 2 St (‘) u’( -6

Potential e (ﬁ)’&i’ (B) Kinetic energy ‘5./'1.@‘3( (A)
Nugl rgy &)IP/;,VJ (D) Chemical energy u’./'ldé‘{ (C)
7 . The SI unit of stress is e Ly KRy Ut (8D J}:}l ("/ -7
N’m? (D) Nm (C) Nm™> (B) Nm™' (&)
8 - Normal human body temperature is c./,f-/;’ K()' GU' o J/t -8
37°C (D) 37°F (C) 98.6 °C (B) 15°C A
9. Ingases, heat is mainly transferred by ¥ a7 J&I 7ol ,:r .9
conduction u'}( 2 (B) molecular collision Slfﬁzgl. (A)
radiation ¢~Igts (D) convection uzgif (¢
10 - The material with large specific heat is &« Jﬂ Jla (P a7l -10
ice iz (D) mercury $/7 (C) water Gg (B) copper (¥ (A)
11- According to first condition of equilibrium oL J,/“Jf«? Shdskr -1
YF=0 (D) >d=0 (C) Y>P=0 (B) Yti=0 (A
12.. The most sensitive balance for measuring mass of ' e o KL (}”JL ¥ () 4. u/ -12
light object is ERVAS
physical balance JEES (B) electronic balance U 5£24 (A)
lever balance % (D) beam balance u‘q-'ﬁ (©)

18-(1)-1%*A 123-98000

F



PHYSICS Paper:I  (FUi¥les JEGEE) 1A 128 I'g4 94
Time: 1:45 Hours  Group-II SUBJECTIVE - dei /1w & 145 :h

Marks: 48
Nofe: Section I is compulsory. Attempt any TWO (2)

questions from Section IIL

QUED -23

48:4

(2) ne Jf:- S o .q..dJlldi'.b s
-&J-:-LL#L&UV

Section - I J3l .o

2 - Write short answers to any FIVE (5) questions.
i-

vernier callipers.

(6x2=10) -2 feMzFLaiy B) &L -2

What is vernier callipers? Write down the least count of digital -’é Z f 25K e 4‘9’/ 7 g}ﬁf} Se W ,g-'( Ln -1

L LS e 1t P

ii- Write down rules to find the significant figures in measurment. -1
i1 - Define Physics. -é ..y/""gf‘f,’ -1l
iv- Differentiate between scalars and vectors quantities. 25 Uk G den £ Unilis 2K K iy
v- What is meant by uniform acceleration? el gf;, u"-)’gl Wy -V
vi - Differentiate between transiatory motion and linear motion. I o /‘-) S ).M/‘ -vi
vii - Define inertia and momentum. OCQD Eugs ("":'ul A - vid
' viii- Write down two advantages and disadvantages of friction. %&% L et 9 L G viii

. 3 - Write short answers to any FIVE (5) questions.

i- Define the centre of gravity.

il -

@ﬁ?@m long

210) Z fenizF Loy 6) ) < 03
A) RO TV )

A mechanic tightens the nut of a bicycle usi wud rd 15em ¢ o9 200N B L -
! :zzr:::t::;x:rting a force of 200N. é torque that N ér o L Uy J S - o qu .
iii- What is meant by principle of e dpe L Uy i
iv- Define Newton's Law of gravitation. EE el S SL g -iv
. v- Define stable equilibrium. gk S iz (e -v
% vi- What are Geostationary Satellites? Ut l_/(u:"W & -vi
| vii- What is meant by solar cell? ey S -vii
' viii- Define electrical energy. Ay Jan S viii

4 - Write short answers to any FIVE (5) questions.

i- State Pascal's law. Write down applications of this law
in daily life.

ii - Define Young's modulus.
iii- Whatis meant by elasticity?

iv- Differentiate between temperature and heat.

(210

(6x2=10) -Z/f bzl (5) 8} 074
I - L (a
T b Ul D!
oA i
ey e 5T -
G OPE el e i



-9-
Cugiz-273
v - Change 300K temperature on Kelvin scale into Celsius scale e Luﬂ (\u\..,\ s N.\..\ 300K ¢ Q.h Qm..\ -v
‘ of temperature. : Edx
vi- Write down any two factors on which rate of flow of heat 0\...Q\ le £ w7y & x\..%\h‘..\_ » -vi
amum:nm.. -¢ tn ASTK
vii- What causes a glider to remain in air? e Vorbe finl 28 -vii
viii - Write down the names of four ﬁmoéom_wm cube. -2 .7 s U Jle S &7 -viii
nMb@o Section - II (12
Note: Attempt any TWO (2) questions. va L clizlely (2) ne %\ 0
5 - (a) Prove third equation of motion by the use 3@ (4) $el7in S Jo Wru._\\m\w.m\ﬂ (W _g
speed-time graph. . % B b syl 5
(b) A body has weight 20N. How much force is @ L 2ms? S U - 20N i w\.(m (&)
required to move it vertically upward with an QO LLivL P pllesre %\\n_
acceleration of 2ms™? a\ i § ood cu\
6 - (@ Calculate the mass of earth with the help of (@) -Eprusdic wlull Fyl ) g
law of gravitation.
(b) The steering of a car has a radius 16¢cm. (5) -« 16cm Pl K S L \wc\ ()
Find the torque produced by a couple of 50N. G e O L i - JIL 50N
7 - (a) Explain volume thermal expansion in solids and (4) &5 olos S0 QU7 Ut s £ plat g () 7
define temperature coefficient of volume expansion. IM Lx\\.\. cﬁ u\%& WL g s ?.u.r 2!
(b) A student presses his paim by his thumb with a (5) JGudS 15N 24 2 \(\_F £ ()
force of 75N. What would be the pressure under I.5em? £ £ EAL -& bl \wm«&_
his thumb having contact area 1.5cm?. Wt 2 0L

18-1%A 123-98000
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PHYSICS Paper:1 (Tl JEGEE) 122 - () 1.4
Time: 15 Minutes  (Group:I) OBJECTIVE - e (g 1)
Marks: 12 Code: 547 Hu T-Gl-2)

L onene Jumdisevldrsgdfdz -u EsDHCBAc
K nr? s iy aJ);JquJA—/4/(uKLL.// ;(u:/b 31

S B

1.1. Theleastcountof meter rod is - b AL LS )4
0.01 mm (D) 0.0t cm (C) 0.01 m (B) 1 mm (A)
9. Prefix femto is equal to - b sl Z " u’g $g
107" ) 107" (©) 2 (@) 107 (A
3. Co-efficient of friction is equal to bw 2l £ WOl 3
% ©) E+R (C) (B) ER (A)
4- vectors can be added by head to tail rule. s Fe @ /{: e i
4 (B) nober of PSS (A)
2 (D) @
5. The value of "g" at a height one earth's radius above @
the surface of the earth is @O%
1 B BN 1
ril RPN 08 2
6- The work done will be zero when the an ween in
the force and the displacement i
180" (D) 90° (© 60° (B) 45° (
7- (metal) is the lightest. e e o (et
lead - (D) mercury d// (C) aluminium ré-’,.k.' (B) copper 4( (A)
8. ____ hasthe largest value of co-efficient of linear ed (e L s drdrl
thermal expansion. - wlie
steel £ (D) brass ¥ (€) gold 47 B  aluminium 1 (A)
9. The surfaces of Leslie's cube are -t U Ny
4 (D) 3 (© 2 (B) 5 (A)
10 - The major source of heat energy is et o ACIL, diz
light G (D) earth ¢ (C) moon 4§ (B) sun & (A)
11- The efficiency of an electric lamp is percent. e Ooad st $ ot S
5 (D) 10 (C) 15 (B) 20 (A)
12- The weight of a body is 147 N, its mass will be v JVEUI e 14TN U2 b’(" o1
(if g=10ms™) (g=10ms™ )
147 kg (D) 0.147 kg (C) 14.7 kg (B) 1.47 kg (A)

14-(1)-122-104000
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% Paper:1 (ﬁ’ gﬂ( I dedﬁf) 122 R J(/

- £:46 Hours (Group:I) SUBJECTIVE
rks: 48
Note: Section I is compulsory. Attempt any TWO (2)

questions from Section IT.

...... Juwin (/) & 1455
48: /%

(2) ve Jfa. uﬁr».b .q.d)ﬂ Jilo )

Section ~ I J:l

2 - Write short answers to any FIVE (5) questions. (5x2=
i- What is meant by derived quantities and derived units?

ii - Define scientific notation and give two examples.

iii - Define positive and negative zero error of vernier callipers.

iv - Differentiate between rotatory motion and vibratory motion.

v - Differentiate between positive and negative acceleration.

vi- Define momentum and write down its SI unit.
vii - Define co-efficient of friction and write down its formula.

viii- What is meant by banking of the roads?

10) -i;/’._,wfi‘éumr 6) &L df-2
e sl Ve u}: 3PL sl Usr 3Pl -
e g S B i
AN T zy £ S 7 i
& b 3) v St gy S -iv
WG H M ;eg/,u’:;g_ -v
ogsivnanE W § A v
¥ g S AT erd i
@ fe sl Ve s ST B - vili

3 - Write short answers to any FIVE (5) questions. (5x2= 10%@/’ .:aW:/B L=y (5) ég & JJ’ -3

i- What is second condition for equilibrium? Write down

its mathematical equation. %b@

ii - Define resultant of forces.

iii - What is meant by centre of mass and ce %ravity?
iv- Describe the law of gravitation.
v - What is meant by global positio system?
vi- What is the height of a geostationary satellite from the
centre of Earth and velocity with respect to Earth?
vii- What is meant by nuclear fuels?

viii - What is meant by Solar House Heating?

4 - Write short answers to any FIVE (b) questions. (6x2=

i- State Pascal's law.
ii - Define hydrometer.
iii - - Why is water not suitable to be used in a barometer?
iv- Differentiate between temperature and heat.
" v- Define internal energy.
vi- Why does heat flow from hot body to cold body?
vii- Differentiate between conduction and convection.

viii - What is meant by green house effect?

(A13

& ey et Vb 6 Jﬁ/’d;gl -1

E T edy i
ey Ve G/ STAMN TS -iii
ol ¥, v
e e By
e e Sp L ik w22 i
e FSB e L Lin
ey e M A i
te sty Ve Saydy b -viid
10) -Zfolz ALt (6) b -4
Yk ulbEFy -
E SR, -
Se sy ud 6 e Ut K o fd,t, - iid
EZAEN ) SOy S
EwEadH v
fe b uJ.J)J(’-a.,tw‘c.; ("r/ﬂ(, Cer -vi
e L P A SN i
ey Ye 2yt -viil



Section - IT (12 o

Note: Attempt any TWO (2) questions from Section IL

5~

(a) Define and explain the law of conservation
of momentum.
(b) A train starts from rest, It moves through
1km in 100 seconds with uniform acceleration.

What will be its speed at the end of 100 seconds?

(a) Calculate the mass of the Earth.

(b) A motor boat moves at a steady speed of
4 ms™'. Water resistance acting on it is

4000 N. Calculate the power of its engine.

(a) What is meant by evaporation? On what factors
does the evaporation of a liquid depend? Explain.
(b) What would be the volume of ice formed by

freezing 1 litre of water?

14- 122-104000

1+3 (4)

(5)

(4)
(5)

1+8 (4)

ol ey (2) ne e S o ..‘:)\

E WSl L () -5

4 -2’;:.:»&, 2!
3l p e o Sady g
L IEE100 AL ‘ﬁ)’gpw,
IR 100 <g 3SE Lol ¢ 2 (]
?ny’,»:fp(q}‘;LnJ;

R 13

()

() -6

e by 2§ 4 ms wsl e
S d LSS g (e
A AL U1-e 4000 N o5

g

Fot S e wp Ve Bgy
Ls S by St A ¥

O(@Wp:’b Kb i ta [5; 21

¥

(&)

(W) -7
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Time: 15 Minutes  (Group:1I) OBJECTIVE ... e (e ) w15

Marks: 12 (2Y)] 7- &l Code: 5478 12 5
L o2 e = A u;?bé‘:c_’,.) &L vz 4 Qrdfi oujéfé.)DA’Cr BlA."«LUz‘j:?bé:db’/; 2
K g N2 0l cur‘d/é_//z/ﬁ.«blk LS4 s whie g S BLIA S o2l Sk Jb

Lol- g velocity of a body becomes three times greater, (KE) G/ ey Yoo LU S ()-/7 -1.

Entf

then kinetic energy will be times.

nine J (D) six & (C) four g (B) three £ (A)
2 - Co-efficient of friction between tyre and dry road =i J’}q _‘.a’(i’b’/ Lt Bk .9

is -
1 (D) . 2 (C) (B) 0.1 (A)
3- Rate of flow of heat —(tgoc : NSNS TPATERE
A (D | 1 C ry B A? A
(D) A (©) A? (B)
4- 1kmh™is equal to e g & lkmh™ -4

36 ’ 10
2 el
(B) @
%OKUL%JJ/J“.J}Jx-éxis"g“u’J}vg -5
¥ w:,f-y

36ms™ (D) 10ms™ (C)

5- Aforce "f:) " Is acting along x-axis, its y-component

will be <
zero # (D) 1 F (B) 2F (A)
6 - Earth's gravitational force vanishes at -@ -< (}tg g < J/} ﬁdg)’ J o) -6
1000 km (D) 4 00k ( infinity .U (B) 6400 km (A)
T ( i:’) ("J -
Force is equal to -tz L Flos
5:5' O) fﬁ.ﬂ (8) ﬂ (A)
t t t .
8- meters should be the approximafely length [wes JLJ Sort § & &5y, V711 Jg -8
of a glass tube to construct a water bargmeter. ~<b A
11m (D) 1m (B) 0.5m (A)
9- Aninterval of 200 micro seconds (US)is equivalentto . L 5K (us) K 200 -9
2x10°%s (@) 2x10~*s  (C) 0.02s (B) 02s (A)
10 - According to Archimedes, upthrust is equal to : £ vt § Ut G £ Yoot £ U - 10
e Gt 4l
weight of displaced liquid ~ wis £ L Ly i or (A)
volume of displaced liquid p!r, L (‘EL Ll bes (B)
mass of displaced liquid U\ L Z b i er (C)
density of displaced liquid ¢ g Li iy wr (D)
11- vectors can be added by head to tail rule. < oGS e ik -1
2 (B) any number of &, u"cff (A)
4 (D) 3 (€
12. has the largest specific heat. -+ wlie oo ir§ 19

mercury ¢/ (D) water i (C) ice iz (B) copper 6 (A)



(Pl el JFGE) 122 124 7

s é/ Paper:I

-z 1:45 Hours  (Group:1II) SUBJECTIVE - disi (o ) & 1:45 5

farks: 48 | 48: %

" Note: Section I is compulsory. Attempt any TWO (2) (2) 2 6:( = u-"-p:.b Uiy Jilo (L
-~ questions from Section IL qU 7 - qm o\ Lty

Section -1 J3l o
(6x2=10) &7z Pl 5) &L -2
Ul St Fig L L 1t P -
7
' iSSP i
e Ui/ Sy ST S U i
EAenSUingE A v
E O L et v
t% " (Position) Py -vi
‘e On (U e FPE s b -vii
L g S I L S L i
(5x2=10) 22,8 /‘?‘Cuwy G bl = J;’
i- Why communication satellites are stationed at geostationary %@ fud Ut Ty {2 Wall s gf‘c AE
orbits? ? &

ii- What is mass of the earth? Write down the formula to @izb@ _& Kz,/(}"u’t K i Se ULt -ii

t will be

2 - Write short answers to any FIVE (5) questions.
i- Write down two demerits of measuring instruments,
used in the past.
ii - Define Physics.
iii- What role SI units have played in the development of science?
iv - Define scalar and give its two examples.
v - Differentiate between rest and motion.
vi- Whatis position?
vii- Why rolling friction is less thah sliding friction?

viii- State "law of conservation of momentum".

3 - Write short answers to any FIVE (5) questions.

the mass of the earth?
iii - If radius of the earth (R) becomes doubled, Wy by ST T b n U (R) oL KO A i
€y Il
e Qe S LA A e AL i
VW Fed 3 m A ¥ 50 -y
(g=10ms™ £) & pb 3 J’*’g S
S P Yt o ST A Sl i
Se br S U EAGE Pl i
St e Be$ Gog pBSm PSS -viid
(6x2=10) -2 felzF Loty (6) &L 0 -4

effect on orbital speed?
iv- How biogas is prepared from bi
v- Abody of mass 50 kg is raised to a height of 3 m.
What is its potential energy? (if g =10ms™)
vi- What is difference between rigid body and axis of rotation?
vii- When a body is said to be in equilibrium?

viii - Which form of energy is most preferred and why?

4 - Write short answers to any FIVE (5) questions.

1 -

il -

What is elasticity?

Define Young's modulus also write down its formula.

fe |/ (Elasticity) u’& wlo-i
-g Us’s B sl 4{4/(,((/)»’76" -1
Sl Ve 4 dirds  -iii

iii- What is meant by linear thermal expansion?
iv- On which factors evaporation does depend? 'é ;/}t Ly fe g J7 u(/lif ¥ u":-q;gl -1v
Write down their names.
v - Define lower and upper fixed 'points in thermometer. & - j" g J“’Yg 24 Ll 2 2 KL S v
vi- Distinguish between insulators and conductors. @GP SR i
vii- Define global warming. @ S B Jf i
viii - How do birds fly? {1 L}fd_: kg -vild

CAR)




G UT'C' 2-—'22 Section - II (92 o

Note: Attempt any TWO (2) questions from Section II.

5- (a) State Newton's second law of motion.
Derive an expression of force and hence
define SI unit of force.
(b) A train starts from rest. It moves through
1 km in 100 seconds with uniform acceleration.

What will be its speed at the end of 100 seconds?
6 - (a) State and explain the law of gravition.

(b) Calculat the power of a pump which can lift
70 kg of water through a vértical height of
16 min 10 S. Also find the power in horse power.
7 - (a) Define specific heat capacity. Describe the
importance of large specific heat capacity

of water.

of water acting on it.

15-122-101000

5\
(b) A wooden cube of sides 10 cm each, ha (5)
dipped completely in water. Calcul ﬁ pthurst

-2-

-~
~

.é.-,uzz:.»mr (2) pe He VST O%

E UL eI b () g
Sy ST L udl 25 sl ehsls
e e ey i (L)
UL IRE 100 AL ‘/)'Cv (Y
S 100 e 3L o ¥ 18
WS ir S igbn S
Surn & ue Juin & s/ (W) g
,Z’:yu;
Gk rf 16 m S 3 70 Kg ot 1 ()
St - P 10S oF
S 2 o S 7
(4 o@z - @ /EAT s (n g
Qg} & g et A Qo s

(4)

(5)

1+3 (4)

(5)

FEF10 QU E L P vsA g (L)
J&&{J’-ﬁ; lnw{uh}‘(utég -
_Ei:(:b’w}d/g)ugl
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; Time: 15 Minutes (Group:I) Objective < u‘fvf‘ (-.r:f 174 & 15 b
 Marks: 12 Code: 5475 12 : %

- avj-4i-2l

Z ..‘Ji{c.-/uc;ufu;f':é:é.;c"_bfﬁdfrﬂ{db/d'z -pLEsDANCBA

K ? e Iz s uﬂ.:w’JL/i/&K&L/ifuﬁb whi e K f e B LI S oo 36 (b

1. 1- Inwhich of the following state, molecules do not
leave their position?
plasma (it (D) gas ¥ (©
2 - The value of "g" on the surface of the Moon is
10ms™ (D) 10ms™ (C)
8- SI unit of power is
ms? (D) ms~ (C)
4 - Rate of flow of heat is
% (D) % ()
5- Which of the following, is a vector quantity?
mass ! (D) speed L¥ (C)

6 - In SI, the unit of torque is
Nm2 (D)

7- The specific heat of water is

)

1420Jkg"K'1 (D) 1000 Jkg- (C)
8 - SI unit of momentum is
kgms® (D) kgms  (C)

9 - Linear thermal expansion in solids (L)=
Lo(1+0AT) (D) Lo(@AT) (C)
10 - Potential Energy (P.E.)= |
mgh (D) m’gh (C)

11- Which one of the following is the smallest quantity?

5000 ng (D) 100 H& (C)
12- Coefficient of friction (1) is equal to
R (D) - (©)
Fs R

14-(II1)-121-112000

Nm? (C) @%5

02t Uy g1 I e Sl -1

liquid &4 (B) solid ¥ (A)
e ed§rg s -2

1.6ms™ (B) 1.6 ms™ (A)
i 2y SI¥s" -3

second X£ (B) watt =l (A)
e Z/;L,(ilg{[.:«ﬂ}’ -4

QxT (E%@ % @)
q,@' s e S Sasr -5

dis@n@ﬁo(m velocity (U (A)
A\ " 2y ¥ SE ST -6

Nm (B) Nm (A)
~& J}“?@JIZJG& -7

4200Jkg' K™ (B) 2100Jkg™' K™ (A)

e ey SIES -8

(B) kgms™ (A)

=(L) S dP Ut F -9
To(1+0AL) (A)

=PESASH -10

=4

kgms

Lo(1—0aAT) (B)

2 1 5
mv’ (B) 5 (A
w7 J‘ﬁé}%’c*f:.u:d:'bu -11
2mg (B) 0.01g (A)
e At & (Ryeetdi ¥ ) -12
FsR? (B) FsR (A)

: Jl»yf /_Uu

N4 j/&g Z d’r/; %

1



PHYSICS Paper: I (ﬁ’ 923 QO JEGIE) 121 Ig4 7
Time: 1:45 Hours (Group:I) Subjective .- JE‘J‘ (‘!”/ W) & 1:45 :2h
Marks: 48 48:%A

- GQUTl
Note: Section I is compulsory. Attempt any TWO (2)

questions from Section I

(2) we- Jl(c.— u.’.ru..‘o -q_dJﬂdil.‘o O

w4 e L ey

Section - 1 d,‘o‘l -3

2 . Write short answers to any FIVE (b) questions.
i- Whatis meant by zero error and zero correction?
ii - Define derived units and give an example.
iii- Define scientific notation.
iv - Differentiate between scalars and vectors.

v - Define uniform speed.

vi- How can vector quantities be represented graphically?
vii- What is difference between sliding friction and rolling friction?

viii- A car starts from rest. Its velocity becomes 20m g~

in 8 seconds. Find its acceleration.

3 - Write short answers to any FIVE (5) questions.
i- -Define torque also write down its unit.
ii - What is meant by rigid body?
iii - How does head to tail rule help to find a
of forces (vectors)?
iv- On what factors orbital speed of satellite depends?
v - What is meant by communication satellite?
vi- Why is law of gravitation important to us?
vii- What is meant by power? Write down its formula.

viii - Define energy. Give its an.example.

4 - Write short answers to any FIVE (5) questions.
i- Define density and write down its formula.
ii- ‘What is Hooke's law?
iii - Differentiate between strain and stress.
iv- Define heat. Write down its SI unit.
v - Evaporation causes cooling. Why?
vi- Define latent heat of fusion.
vii - Write down two uses of canvection current.

viii- Define thermal conductivity.

(&10

o
)

(6x2=10) -Zsfeyz Loty )b df-2
e sp Ve Sty -
e @SS i
W A i
S GAY I iE v
&y Swpizy v
e bl Vb S v 5 i
-é Eh Gpgt S FPE e i
T 2o S ods K - vidi
#20ms” §Us S U1 L AL 8

é&% _érﬁ’cﬁf/’gl g

e Loy 5 b} < 0F -3
LA F oyl i
e s Ve $ilds -id
LS w6 ) e F ki
fe &4 Z,)’J(
e b By g SHNSL pid wrwrs” iy
e sV .—«’UE’JJ:J -v
‘e Mol & ednulsKFsS i
& ¥ S sy e sy -vid
e LS ug w8 i
(6x2=10) -ZfehzP Loty 5) b -4
ks g S EH -
fe Vs ¥ -ii
O AR sy i
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Section - IT (12 o

(a) Define and explain law of conservation of
momentum.

(b) A car moves with uniform velocity of 40ms™ for
5 seconds. It comes to rest in the next 10 seconds
with uniform deceleration. Find
i- Deceleration.
i1 - Total distance travelled by the car.

(a) State the law of gravitation and derive its
mathematical formula.

(b) A man is pulling a trolley on a horizontal road with
a force of 200 N making 30° with the road. Find the
horizontal and vertical components of its force.

(a) Define linear thermal expansion in solids and

derive its formula L=L,(1+a AT .

(b) The head of a pin is a square of side 10 mm.

Find the pressure on it due to a force of 20 N.

14-121-112000 @%5
L

(4) &Sl LS Ly () g

-é_i:.wuu,l

(5) c_o"u;(/u;.g‘!%ms“'vﬁ‘ésjb@ﬁ
cﬂkdﬁpuazufﬁ?mit,-q.&&ﬁ
:"_ér,“"_:‘_&g Gend AL

SRS -

LAl FEK i

(4) §Ulal & ol FULIST K
- B b gL

(5) ALl SeFize wif200N g
e (s B i B ot 6 30°

& e FEL ot F1 L d

(4) v ISt s
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PHYSICS Paper: I (ﬁ’ JW eI 2l d;dlﬁ‘?) 121 - (III) Ig¢
Time: 16 Minutes (Group:II) Objective - d'fy“' ("'f’/ 13) L

Marks: 12, 4uy- Q@2-Y Code: 5476
L o2 e e u;/bia) étzf.dlr/{ g¥ dz -u"c’fc.:DulC BAc Lb’j/bﬁ Jiy s s
K 4l I u}Cb -~ ...«J:‘Jd..,// ub/lrd—// fu:/l: 0l e ..f S fe u;L/L fa/b,.oly‘ %

A

1-

10 -

11-.

12 -

The number of perpendicular components of a force is - dn Y ) J u"“:{ Ut L /-5 u’r
4 (D) 5 (C) 2 (B) 1 (A)
- Amount of a substance in terms of numbers is measured in -« Ly b’L/r:L"/ui’ﬂJ‘.;Luté. u’(
mole J» (D) newton (% (C)  kilogramme (I/;K (B) gram (lf (A)
Inertia depends upon & 4 s VA e b Lo
velocity u" Uy (D) mass Jl (C) net force u'uhg' (B) force u‘u" (A)
mv* mv?’
r - r e
acceleration Jifgl (B) force v (A)
centripetal force L2 (D) @omentum A (©
Rate of doing work is called A TLAS S
momentum ("!'";* (D) power s} (C) O@Q (B) energy (/1 (A)
» Which of the following materials has large specific heat? % e J(o § ore® =7 1319 J,’ KU
water Jg (D) mercury /7 (C) %5 ice Jz (B) copper ¢ (A)
The earth's gravitational force of attraction vani @ - 3@ Ay Ju" J’":dgf J 09,
infinity ¢ o6 5220 (D) 1000-Km <X 42300 km (B) 6400 km (A)
" In which of the following state, molec not leave - E u..*" ‘f"-’/‘; g/ J ;:gl. el sk
. their position?
plasma L (D) gas ¥ (C) liquid &L (B) solid U (A)
In solids, heat is transferred by - 3¢ .-:.A/‘,le";l B rlat u’/‘
absorption u‘#ﬁzl (D) convection u-"'(/ (C) radiation u"-ldéj (B) conduction c;‘}f (A)
1.009 m has significant figures. -4 sl § Usin 12 1.009 m
6 (D) 5 (C) 4 (B) 3 (A
A ball is thrown vertically upward. Its velocity at the o 405 Lo ak S g gt 1E of i
. highest point is -J »”
St (D) 10ms™ () zero 4 (B) ~10ms™ (a)
none of these
One pascal is equal to -& by 2ls vl J’g vﬁ
10°Nm™ (D) 10°Nm™ (C) INm™ (B) 10 Nm™ (A)

16-(11I)-121-110000
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PHYSICS Paper: I ((7 U eI sl J,G WE) 121 Iz
Time: 1:45 Hours (Group:II) Subjective - Jlﬂ' (*:/ 1)
Marks: 48

S AT T Iy
Note: Section I is compulsory. Attempt any TWO (2)

‘questions from Section II.

v7

o 1:45 .

48:0%

(2) ne J:(:- S o -f.dJUJS".b i

Loyl oy

Section - I Jil >

2 - Write short answers to any FIVE (5) questions.
i- What is meant by base quantities? Give one example.
ii- Express 4800,000 w in kilo and mega watt by using prefixes .

iii - How least count of vernier callipers can be calculated?

iv - Differentiate between scalars and vectors.

‘What is meant by rest and motion?

- Jo Ll S sl e sl Sl
#14800,000 w x2S i1 4 A,
AN

e bl Wbl Wi w6 K
5 Wk GAUE Ml AT

el Ve sl s

e
vi- Define velocity. Write down its mathematical formula. -z_f Z f U dy ¥l ’éf _.9.!/7 s
vii- Why does a passenger move outward when a bus 4t /'l/ S ie Bl o
takes a turn? e bl M U S

viii- ‘Define friction and limiting friction. ﬁ}o & S o

3 - Write short answers to any FIVE (5) questions.
i- When a body is said to be in equilibrium?

What is a rigid body?

11 -

iii - Give an example of a moving body whi :iilibrium
iv- What is meant by the force of gr
v - Why is law of gravitation impo
vi- 'What is the difference between “g" and "G"?
vii - .Define energy. Give twa types of mechanical energy.
viii- What is meant by the efficiency of a system?
4 - Write short answers to any FIVE (b) questions.  (6x2=

i- vDefine density and elasticity.

ii- Why does atmospheric pressure change with height?

iii - Define tensile strain. Write down its formula.
iv- What is meant by thermal equilibrium?
v - Define heat capacity. Write down its unit.
vi- Differentiate between conduction and convection.
vii- What is meant by convection currents?
viii - -What is meant by transfer of heat?

(&1

@5@%

e t‘ngﬂ(-f/gf;g!..f()'df

S Yo

A e P’
te sl Ve vd ¥/

S A u/é.. a YIv b/tf,:’:d{'j

e O/ "G" sl "g"

kUl de‘/‘; AN

e b Y Ve o S

10)
P i &y

te b Jo U AL Sk By S

&yt 2 7] é.{f.j&q/ygﬁd’

e slp Ve EASEIUA
TR AL Nty )
L Eh Gt P S

S e Y E U

fe sl Ve w7 )il

(6x2=10) -Zsfepz Loy (6) &L (f-2

-1

-1

- 1il

-1V

-vi

-vil

- viil

Zf ez Loty (5§} « 0 -3

-1

-1
-1
-1V
-V

-vi
- vil

- viii

Pl 5) oL -4

-1
-1i
- 111

-iv

-vi
- vil

- vii
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i . -

6= (a) State law of conservatioh of momentum.
' Explain it with the example of balls.
(b) A caf has a velocity of 10ms™ . It accelerates at
0.2 ms"? for half minute. Find the distance travelled
during this time and the final velocity of the car.
6- {a) Define equilibrium. State and explain the first
: condition for equilibrium.
ib) A 500 g stone is thrown up with a velocity of
~ 15ms”. Find its
i- P.E at its maximum height.
ii - K.E when it hits the ground.
7~ (a) Define the coefficient of {Iinear thermal expansion
AL
Lo AT
(b) A student presses her pialm by her thumb with

and prove that & =

a force of 75 N. What would be the pressure

2.
QUr-q2-2.

Section - I1 (9 >

(4)

(5)

(4)

(5)

(4)

(5)

S e I8 K P L ()
-é..:»L‘a Jgjlc. Je Ju;/.‘:f

Ferl sy e 10ms™ Sh AL ()
Wb o FANL02ms™
g L AR P L PR

VAU S EASE g P S Ak (L
-2 Yk e 2ol

G S15ms LA LL /500 (&)
@l Vg e dple
AP (b i
B M = S e s -

A EE P et L5 Jrds ()

AL
ST AT T E =

edfe g (O

Oé‘.ﬁﬁ Wz t‘LnrJ?"d"l/lﬁ

o

under her thumb having‘contact area 1.5 cm”? 0%{& ; Jof v e L1 5em2 e

15-121-110000 %5
| O



s

Physics (New Scheme) Paper: |

Time: 15 Minutes (Group: 1)

Marks: 12

(FUr A sy JAsEIMS - )
Objective ufyv
Code: 5475

l24 D S
(ur)/ﬂp;) 15 1 =y

Jdbs Lulf = e S U éc-) PP édl// £ Qb’dli ~b8£4-JD »C B (A ..«Ui.f/lr Ldb’/ <y

L u“" sk % 4 u!ﬁ
1- 1 - Boiling point of water is:
0°C (D)
2 - The value of gravitational field strength of earth is:
100 N (D)
3 - Which one of the following is the smallest quantity?
5000 ng (D) 100 mg (C)
-1 - In solids heat is transferred by:
absorption %11 (D) convection £ (C)
5 - The energy stored in coal is:
kinetic energy (3.1 ¥ (B)
chemical energy (§./1 L)éf.r (D)
G - Metals are good conductors of heat due to:
#12¢ (D)

neutrons ions #T7 (C)

7 - The states of equilibrium are:

100°C (C)

10 N (C)

&?

VJ:‘JL/,}/ ¥ L d_// /u:/b 1% c..-f é:/cgﬁl //Uls/b.nl#

< .,—u..ﬁu(dL-x -1
100 K (A)

SIS s -2
10 NKg™ (B) 100 NKg™ (A)

100°F (B)

e e di sl ki 3
2mg (B) 0.01 g (A)
e IFKnr I8 i P - 4
conduction 2 (A)
NIV ST A
At

radiation & (§4, (B)

ergy S ez (A)
Quclear energy (3.1 2 (C)
&ﬁg’ir L ez e 2§ -6
s sty (B) free electrons /I/au 2T (A)
@ B SELE -1

2(B)

5(D) ) 3(A)
& - The value of speed of light 'c' is: - i Jeir qu -8
3.3x108 ms™ (D) 108 ms™" (©) 3x10°ms™2 (B) 3x10"8 ms™1 (A)
9 - One Newton (1N) is equal to: e 4l g (IN) o LT -9
1 Kgm?s™' (D) 1 Kgms™ (C) 1Kgs™2 (B) 1Kgs™ (A)
10 - The weight of a body is 147N then its mass is; el L Ul i{_ g 1475 b’f)- -10
14.7 Kg (D) 147 Kg (C) 1.47 Kg (B) zero 3 (A)
11 - Density of water is: - E—— (3"’"'5 Jdg -11
100 Kgm? (D) 1000 Kgm?® (C) 1000 Kgm™ (B) 100 Kgm™3 (A)
12 - 36 Kmh™" is equal to: e & F§xF® 12
30ms™" (D) 25ms™ (C) 20ms™1 (B) 10 ms™" (A)

19-(111)-119-105000
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Physics (New Scheme) Paper:1 (ﬁ"ﬂf el J;Cd/f.:?) 119 | >y (ﬁf{') ‘//

T
Time: 1:45 Hours (Group: I) (.;,,fugg) é 1:45 : <5
Marks: 48 _ Subjective (i 48: /L

&z L au(2) » ujc. 4 (922 - (il Sz 1o
Note: Section | is compulsory. Attempt any Two (2) gestions from Section Ii.

Section | J3.
2 - Write short answers to any FIVE (5) questions: (2 x 5 = 10) Zy, (ML ey (5) é;, edf -2

i - What is slop watch write the least count of L ey (,u._,l.— J{)ﬁ ‘¢_ dn Lf(,u...lf -1
mechanical stop watch. e bt &
it - How to use a measuring cylinder? - e ¢_f /,Uq‘f, k-l
ui - A chocolate wrapper is 6.7 cm long and 5.7 cm wide, Lbuie g 1S5aUpF 7.6z :,,_K(: - iii
calculate its area upto reasonable number of -5: r,‘-"u: s S J Jran (71
significant figures,
iv - Represent a force of 80 N acting towards North of East. Sud J 80 NSEAS S e S04 U8 -iv
é sbe va 5V
v - Differentiate between the circular motion and ﬁ}b DAL ISl ‘/rf/ -v
rotatory motion. < g\/\iﬁ
vi - When a gun is fired it recoils why? @@-_ W gr fé Je dlp du« Oske L2 -vi
vii - Write four methods of reducing friction. @ -J & )/g Li/ ff (f;' - vii
viii - How Banking of Road makes safe to drive vehicle? @ - At 5577 L LIS ST EE - viii
3- Write short answers to any FIVE (5) qu (2x5=10) &, Felin Bl it () G dS -3
| 1 - Differentiate between like and unlik alfel forces. -é ok IAL ;/J}JJI_T Sl L -i
it - What is meant by rigid body? : e sy Ve Gl les -ii
i - Give two uses of artificial satellites. -’?: e = U6 0 £ SRS - i
iv - State law of gravitation and write its mathematical formula. -.ﬁ_ﬁ Sy ;}l)m 2’5 ._y/’ J uit L cf-“d‘g/’ -iv
v - What is meant by Global Positioning System? -2 ok JeEl ety Ve B4y S -y
What is its use?
vi - Define potential energy and write its mathematical formula. & du §1 sl g{ - /'" J R ‘)’-‘{2 -vi
vii - Differentiate between solar cell and solar panels. U L b A i

vii - Caleulate power of a machine which works 4 J in 2seconds. .z~ (;“’AL Sut s 3/ r¥Jzauz M2y -viii

GV

(élau)




4 - Write short answers to any FIVE (5) questions:

1 - State Pascal Law.

i - What is the density of an object? Write its formula.

1 - State principle of floatation.
v - Define temperature and heat.
v - What is the use of thermometer?
vi - On what factors radiation depends?
vii - Define gliding

viii - What is meant by land breeze and sea breeze?

.-
(2x5=10) L feln Bl ey (5)@4-«5/ 4
“E ok S L Fy -i
-a‘_funug,l?q_dn_l_fu’*;d'()'u/ -ii
UVl s -
“E S e gl v
Ll SR
< rn,;Jlf‘fAflb’Jdtdfy -vi
Sk i
%——J’/kfcdﬁf-)uld/.fg - viii

Section Il (9 =

- (a) Derive the second equation of motion with the

N

help of speed-time graph.

(b) How much centripetal force is needed to make a
body of mass 0.5 kg to move in a circle of radius
50cm with the speed 3ms™!

6 - (a) Explain two conditions of Equilibrium

(b) A 500 g stone is thrown up with a velocity of 15ms™

Find its:
1) P.E atits maximum height

1) K.E when it hits the ground

7 - (n) Describe Linear thermal expansio lids and
Prove that o N
l.nA'l'

(b) Awooden cube of sides 10 cm each has been dipped

completely in water. Calculate the upthrust of water

acting on it.

19-119-105000
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Oem/ "L L 1/ 05 (L)

-1

(6) Seinl J

KL i e b d 3ms
e €O s
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Physics (New Scheme)  Paper: | ({‘/u’ d e JEGEE1e - (v) l24 ((.‘g) P
Time: 15 Minutes (Group: i) Objective (5 (s 125) w16 1 =5

Marks: 12 Code: 5478

I Ltz Um a2l éé_i LUy . 4 Qb’d!j’ -wﬁ:c.:D »C

-{f /)"I i u‘i UL Lf u.d)"d’(_—fj/ur L Lf/ J(UJ/') »

I- 1 - Rate of change of momentum is equal to:

distance _Li (D) work _f, (C)

12: S
BeAcw oLy, : o
Ve -2 £ gt S i 5
el C/J&idﬁfyf -1 <
torque _/¢ (B) force (zd (A)

L

2 - The orbital speed of a low orbit satellite is: ~¢ Jx J i/ J;f J AL LT zi". -2
8000ms™" (D) 800ms™" (C) 8ms” zero j¢ (A)

# - The Kinetic energy of a body of mass 2kg is 25 £ 2503 1 .,QJKJ().__O Ul rlf,‘2 -3
Its speed is. _Jx A Ju’l
50ms™" (D) 25ms™" (C) 125ms™" (B) 5ms™" (A)

| - In gases, heat is mainly transferred by:

5 - The S.] unit of force is:
newton .7 (D)

G- The S.f unit of density is:

~1

9 - The number of forées that can be added by head

to tail rule is:

any nlimber ,u5 i/ (D) 4(C)
10 - The S. ugit of energy is:
/ Pascal (£ (D) Watt .1, (C)
11 - Aballis thrown vertically upward its velocity at the
highest point is:
10ms™" (D) 10ms™2 (C)

12 - Co-efficient of volume expension of aluminium is:

7.2x10°k"1 (D) 6x107k™" (C)

60(7,.

20-(IV)-119-97000

- b’:—;‘]du}ll-l)&)gﬁ/’-’! -4
conduction % (A)
Q@convectian S5 (©)

~1s(B)

-

Ly SIKUY -5
kilogram rtf/ (A)

-6 Ly ST ¥EH-¢

<

kgm™2 (B) kgm™" (A)
=L 56,5200 -7
0.02s (B) 0.2s (A)
< <y SIEEA )7 -8
wm'k! (B) Jm~ k™" (a)
e F eV uts §uie ik -9
< .
3(B) 2 (A)
i <y SIKEH-10
Joule Jz (B) Newton .z (A)
(& i e Vs A8 it el d - 11
-J:f o"u, Lfl/,
Zero j# (B) -10ms™" (A)

et ¢ s s K - 12
4.2x107%"" (A)

i

24x107%" (B)



Physics (New Scheme) Paper: | ((Jw’ d el JEAS20) 119 I 24 ((-’ff) (f(/‘.

Time: 1:45 Hours (Group: li) (.'..:fl/») 5145 =5,
Marks: 48 Subjective (i 48:

- oY 4 L = Uis(2) (f(e_. A (9.2 - Jiloo 1)
Note: Section | is compulsory. Attempt any Two (2) qestions from Section II.
Section | J31.>
2 - Write short answers to any FIVE (5) questions: (2x5=10) -’c_{ 4 /’ ap‘z/"’z_amr (5) @‘ c_éf -2
i - What is vernier callipers? Write the Least Count (L.C) _Z(LC) wis AU fe- _lf)/, J:’ Ao -i
of vernier callipers.

u - Differentiate between Base quantities and Derived quantities. 2 & JPen L Usihii 334 sl UGl -id

i1 - What is meant by significant figures of a measurement? fe sy l_/ = Urs Al 9 f_l_g uf - i1l
iv - Define Linear motion and Circular motion. _é _,y} J J,’/K/ul Jf}:’d -1v
v - Differentiate between Scalars and Vectors? Give an J S {yy :-f Zf s I L J).r; sl )):': -v
example of each. & Je

vi - Describe the Law of Inertia. -2f_f kKA -vi

3D sl gin s S - vid

ESQnL iS5 -viii

viii - Describe two (2) ways to reduce friction. &
o£5 .
3 - Write short answers to any FIVE (5) questions: (2x 5= L& Sl sy (5) a Jdf -3

v - Wnite two differences between mass and weight. .

1 - Define resultant of forces. %5 -éqj’lgfﬁid'fﬂza -1
ii - What is meant by axis of rotation? @@ ey Ve ‘ﬁ;/ T /-( =il
i - What is meant by Global Positioning System? O eV By S -

iv - What is the value of 'g' on the earth and e Jx gf_-,f J ‘9'4 Ao sl i -iv
v - Why communication satellites app onary S LAl e L s u""U”d’-"e.f -v
with respect to the Earth. ‘

vi - What is meant by Mechanical energy, also give one example. Y R Je L fe iy Ve 8 J‘.‘C -vi
vii - Define elastic potential energy. LY /JJ & L}-A?,’, Lkl -vii
viii - What is Mass-Energy Equation? te Vabl-@Aut - viii

4 - Write short answers to any FIVE (5) questions: (2 x 6= 10) Zy, FelzZL oy (5) é’. edf -4
i - How a submarine floats on the water surface and dives e FLrS L (.'5&. sy 5’6"3& P

down into water?

it - What is Hooke's Law? What is meant by elastic limit? ey Ve cAErite Vuib ¥ -ii
i - Why does the atmospheric pressure vary with height? fe bl s ud AL L Sk Yy S i

iv - Define latent heat of fusion and latent heat of vaporization?  _zZ _u 7§ Fo 17 ST uges Fenr Sk -iv

(&15.) @ U j/ - IC)‘




< ]
H
-2~
v - Define "volume thermal expansion” and “wt 81 g (el " "3 Gz f""’" -y
“temperature co-efficient of volume expansion"? 2z ..g/JJ
vi - What is meant by thermal conductivity? e Ve GAUWSA i
vii - Define radiation. Write down the factors at which the rate of MELLPS Lt o el o P FIShs - vii
emission of radiation depends upon? e s J,;J
%
viti - What is "Greenhouse effect"? e | ".»,éuusyq/ " - viii

Section il (9 =
- (a) Derive second equation of motion with the help of (4) rs’ Bl sl See 1u SoS/s Feedr () -5
speed-time graph.
(L) Abuilet of mass 20 g is fired from a gun with the (5) & gt J Dsie SUs deJu'L rlf 20 (o)
muzzle velocity 190ms™ . Find velocity of the & SJE S Jisi-c 100 ms M,
- kg S ¥ @
G- () Define torque and write its mathematical equation () S M5 _@i@ fan 25 _»/JJL' ) -6

Explan torque of a couple with the help of a (oe o J P T JJL'

s |

recoll of the gun if its mass is 5kg.

double arm spanner, o

(b) A gurl carries a 10 kg bag upstairs to a height of (5) ' T8 18, S Sl wE K10kg¢/_f ()
u: il fw fé:’-c_ 20emyy dr*’f

work she has done to carry the bag. (Take g=10 -@ (g=10ms" ,L ) __*': ada ) J_/, g
- (a) Define volume thermal expansion in solids. Of; (4) AT RETY JJI/’J" f’J" el o) -7

& J‘”L_v ¢ g daz gt (s

18 steps. each 20 cm high. Calculate the amount of

~1

Derive mathematical relation for volu

thermal expansion,

(b) The head of a pin is a square ofside 10 mm. (5) 2L U \,(u)'_;_ Ve do Fep Ll (&)
Find the pressure on it due to a force of 20 N. I e J,} JZO N Uiy i Ul 10 mm
S in

20-119-97000 60/”& /7



